® 3000 ¥ 4 +3000 Y

® 935} 25°C @ 4+25°C

@ o4t 3574m © +3574m



op

— |

@ +7

1
@0 ©+§

® +3



% 3 7t

3]
<

ﬂmo

% 3 7)ok
® U] fE4Ee BF 2 Aot

|
e

@ =

@ 2 §o4E B 2 Ak,

® Ade+=1 7.



I

24

of Lrebg W, 7H hed] 9A5He 4

@ -1 ® +7 @ +4 ® -5



ol

ofig

ol
B
T

oA

i
<+

ojn

-04,

,03

2
7

34, -3,

@ 29 H4 2 7
@ 5670

@ =724

3 7h

® F9 FeI%

® A2



6.

ohe 524 Slol4 A P 7k ek 427



T A, B7F o5 22 o, A+ B 9] @& Fotofzt

A 2 QoA —33 5 Afo] 2] A g
B . 5AA QoA —159} 19f tf-§5= HolA ZE2 A
Q= Aol f-goh= &

D -14 @

-8 @1 @ 2 G 16




g Ffefal,

tizgkol 10 Q1 5= FollA &

s
=

8.



dYogHy
A gET 22 A4 FolA , ¥H
9. AYigro] 491 2} -804

o]
b4 we] WoiA gl A Fateler

D R
5'7



—_—

-2<x<4%

10.

@ 5 ® 6 @ 7 ® 8

@D 4



11, -7.1 3 35 Abolofl Qe Aee 5 H 7R

@ 871 @ 97 @ 1070 @ 1174 ® 1274



12.

24 GIollH 5 S a, b o) SR 5 A Aol] Azlrt s o)1
Ho] @ 742 9 Hol Lehh 47k 2 2 0 a o] ghe Falolel,
(T b>a)

>
=%



13

rE



14. A a, bl ol ab<0,a 2] BHZEE 4, b o] AHFEE 64 ),
(a—Db)? ab 1o
oy PR o] Zr-& oot

D
=%




15. 2 a, b, coNX a+b+c 9 FHe F5HA?

lugax ge ¢ 3y a5

bi 56 HTHAA G 5 F Y A A%
et FAA AN -2 ol 4 The B4
® -12 @ -6 9 @ 3

® 10




o

d A

B 4B IAY 21 3 05k AL} of

[e]
SR

o A
= T
o Zejet,

16. t

-0

- <t

- ™M

@ 3 @ 4

® 0







18.

e AL BENE F 5 a0, b 5 524 9o el W), £ 5
Aole] 7el o] HTgtat Azl T ateler

(a1
H7]

lal = 3, |b = 10




19.

-10 < x <9 A2 & Al = a, b, ¢ ol HSF a| + [b] + Ic| €
A2 M, 532 molet & o, jm — M| 9] k= otofet.

D R
3%



A < 42 A, 69 t-55k= HS B, -3 A
= HS C, 2 o Ug5h= H2 D g 5k, AL HAB Y FHS
1w, M T NAolo] ARlE

N w

®1 @ 2 ®



